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S. | Name of Figure |Lateral/Curved| Total surface | Volume | Nomen-
No.| the solid surface area area clature
1. Cuboid @h 2hil+b) 2(Ib+bh+hi) Ibh I:length
I f-breadth

h:height

e ; - .
2 Cube " da” i a a:side of
a the cube
3 Right Perimeter of base Lateral surface | area of base -
prism @ % height area+2(area of » height
the end surface)

4. Regular 2mrh 2nr{r+h) mrh rradius of
circular D the base
Cylinder h:height

5. Right 1 { perimeter of Lateral surfaces —I area of -
pyramid base)x slant area+area of the base

height the base » height
f. Right il mrl4r) l1 mrh rradius of
circular the base
cone h:height
[:slant height
- ) > 4 _3 :
Sphere 4 dmr- 3 T rrradius
. 1 ;) e )
8. | Hemisphere i i 2mr” inr ST rrradios
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The height of a cone is 24 cm and the area of the base is 154 cm?. What is the curved surface
area (in cm?) of the cone?
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(a) 484
(b) 550
! (C) 525
(d) 515
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What is the total surface area of cylmder of radius 25 cm and helght of 0.8m?

25 ¢m BT 3R 0.8 m D &aTs AT S0 BT Hd G8IT &FTHd (bl g2
(a) 1.54 m2 (b) 1.77 m2 (c) 1.65 m2 (d) none




A steel sphere of radius 6 cm is drawn into a wire of diameter 16 cm. find the
length of the wire. (in cm)

6 TH! ST & T LI & Tl B 16 YA A o dR H Widl ST g1 IR D
SEIERIGEZINGLR:)

(a) 3.5 (b) 6 (c) 4.5 (d) none
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A cylinder of radius 13 cm and height 56 cm is to be melted to cast ‘n’
hemispherical bowls of outer diameter 16 cm and inner diameter 14 cm. Find

the value of ‘n’?

ST 13 A IR HaTS 56 A & Yeb oe Bl {HArshR STest Ay 16 JH!
3R STAR® T 14 FH & 'n* AR PHeR g1 %l 'n" PI HI IATd PR?

- (a) 56 (b) 72 (c) 65 (d) none




A circle is inscribed in an equilateral triangle whose height is 3V3 cm. Then, find
the ratio of area of equilateral triangle to area of circle inscribed in an equilateral

triangle.

b g1 U GHd
BYS & &

Fysl § Iehivl g fore

JHdg AYS T I

o1 SR 3V3 JHI 81 fth, gHaTg

AUIGEEC

(a) 3Vv3:4(b)4:3v3(c) 5v2: 7Vv3 (d) none.
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A solid spherical ball of lead 3 cm in radius is melted and recast into three spherical
balls. If the radius of two of these balls are 1.5 cm and 2.5 cm respectively then
find the diameter of the third ball?

Sﬁﬁwaffﬁ?ﬂ@rcﬁw‘oﬁ?ﬂr IeMTPR Tic; b1 fUTeienR fiF MareR el |
sad fear o g1 afe $7H @ <1 et ot Brsar e 1.5 31 3R 2.5 AT &,

AR TiE BT AT JTd He?

(a)4cm (b) 2cm (c) 5 cm (d) none




Three solid spheres of radius 3 cm, 4 cm and 5 cm are melted and
recasted into a solid sphere. What will be the percentage decrease

in the surface area?
3 THT, 4@Tﬁ3ﬁ‘{5@'ﬁ° AT ATl 19 ST el & Taeel ¥ Ueh 519
RIEREECRERHE2 IR
qdg 3 ﬁ:EI'IQCFQ_CTEITJ:ﬁ'?
(a) 12 (b) 14 (c) 16 (d) 28




A solid cone of height 24 cm and radius of its base 8 cm is melted
to form a solid cylinder of radius 6 cm and height 6 cm. In the
whole process what percent of material is wasted?

T STE 9 TSTerehl =Te 24 THT 3T 39k YT =hl =41 8 9HT 8, &l
 TOEATHRT 6 9HT 39T 3T 6 9HT ST T Ueh 319 o= a=1A7 SA1ar gl
= T I6AT § Tohae Siaerd IRt 941 gl SATat 272
(a) 48.5 (b) 37.5(c) 57.8 (d) 64




The length of canvas, 75 cm wide required to build a conical tent o
height 14m and the floor area 346.5 m2 is...

14 H12T TATS AT AFTHRTE TFL & A7 & o straeass 75 94t 918
FTATH ol aTs 3T BT &7 346.5 Hiex2 g..

a) 665 mb) 860 mc)490 md) 770 m...




/R

~ SSCGD2023 (WeIdI IHGMHA)

5 persons will live in a tent. If each person requires 16m2 of floor
area and 100m3 space for air then the height of the cone of
smallest size to accommodate these persons would be...

T de H 5 1<k Tail| TTa T Aih il 6L F &6 & 16m2 3T g3
% o7 100m3 =T T MF9THAT BT &, AT S SAThIT Tl THTIToT4
A o o0 T e SATRT o 90 sl HATs gl |
a) 16 metre b) 10.25 metre c) 20 metre d) 18.75 metre...




The area of the iron sheet required to prepare a cone 24 cm high

with base radius 7 cm is ...

AT 39T 7 AT & 91T 24 GHT S 4% T dATL FLA o (o0 FF9TF
Ig =l ATEL T ATEHA & ...

- a) 408 cm2 b) 708 cm2 c) 804 cm2 d) 704 cm?2...
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The radius of a cylinder is 10 cm and the height is 4 cm. The number of centimetres that m
be added either to the radius or to the height to get the same increase in the volume of the
cylinder is :

TP 9a D 4T 10 I 3R S5 4 9 8. s & 3maas & 991+ gfs ure &4
& fore a1 a1 Bear a1 S8 | fhaq 9dHier o oA T1ige?
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(c) 25

(d) 16




A solid sphere of radius 6 cm is melted to form a hollow right circular cylindrical tube of length
8 cm and external radius 10 cm. The thickness of the tube in m is

TP 6 9HI F3<UT a1 319 Md &1 U 8 THI dia1s 3R 10 GH! 9183 Bar are v
@Eﬁ%wq?ﬂuawmmﬁ%mﬁawmélwﬁmrﬂaﬁ
fpa-t 82

(a) 1

 (b) 0.01 -1
(c) 2
(d) .02
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The base of a prism is in the shape of an equilateral triangle. If the perimeter of the base is 18
cm and the height of the prism is 20 cm, then what is the volume (in cm3) of the prism?

TS freH &1 nyTR |Harg ¥ PR T 21 IS MY H aRRfer 18 AN 2 37 R
PI ST 20 THI &, a‘rfth%irﬁ&mq(aﬂﬁtﬂﬁ)wév

(a) 180v3

(b) 30V6

 (c) 60V2 -1
(d) 120v3




Ratio of volume of conical tent to total surface area of hemispherical bowl is 8 1.
Radius of bowl and tent is equal and slant height of tent is 75cm. If radius of
conlcal tent is equal to side of a cube, then fmd curved surface area of cube.
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(a) 1576 cm2 (b) 1764 cm2 (c) 1852 cm?2 (d) none
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The ratio of curved surface area to total surface area of a
cylinder is 7:9. Find diameter of cylinder, if volume of cylinder is

88 cm3.(a)14cm(b)2cm(c) 9cm (d) 7 cm




. A right circular cone and a right cylinder have a circle of the
same radius as their base and their heights are equal to the
radius itself. If a hemisphere has the same radius, then their

volumes are in the proportion of (a) 2:3:1 (b) 1:3:2 (c) 1:2:3 (d)
1:3:1




. Area of base of a cylinder is 132cm? and height is half of
square of radius of it’s base. Find volume of the cylinders? (a)

2772 cm?® (b) 3113 cm?3 (c) 2376 cm3 (d) 924 cm?




The ratio of the radius and height of a cylinder is 7: 12. If its
volume is 6237 cm3 then find difference between its total

surface area and curved surface area? (a) 700 cm2 (b) 686 cm?2
(c) 679 cm2 (d) 672 cm2










